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Math I Independent and Dependent Conditional Events
r SCRABBL Scrabble has 100 tiles, 98 of which are letters and two of which are \
blank. The numbers of tiles of each letter are shown in the diagram
Find the probability of the following events:
1. Ch4gsing an “S” tile and keeping it, then choosing
R ther “S” tile. A 9 H 2 0 8 V 2
WEp(sns)= 7(:)-P(s|ss Bi2 Ils P2 W2
P(sNS)= — +—= 0.0012L~Y 0.127%
100 99 S , €i2 J 1 Q1 X 1
oosnng a vowel tile and keeping it, then choosing a :
ank fi 4 1 6 2
PIVABY= O(V) P(&lv) b K i .
PNNB)= T2 2 20,0085 0.35% Ej2 &3 @i+ &
3. Choosing a vowel tile and keeping it, then choosing F 2 M 2 T 6 2
another vowel tile and keeping then choosing another
vowgl, % B E N s U s Blank
Q’(‘ P(vnv3-~. _si-» 0.1334 2 13.34% p— Y
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/A number is selected, at random, from the set ()28,48,6(),8}. Find:

a) P(odd)= % < 0.50 > SO%

b) P(prime|odd) - y
q I I 10070

A box contains three blue marbles, five red marbles, and four white
marbles. If one marble is drawn at random, find:

a) P(blue |not white) ~__ h
b) P(not red | not white) 56

L’ = %"93?-570

YO OU

A number is selected randomly from a container containing all the

integers from 10 to 50. Findi{ (o 1\ 10 3 14 1S 1L (3 B 19

Q) Pleven|greaterthand0) ) 39 31 21 23 24 25 2% 23 28 24
b) P(ggeater than40 | even) v 31 32 33 W 31 2

) P(prime| between 20and 40)
Sea. noxk pligr- 05250, 2

N g =
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P .4
L) 18\ 1 L)N o vy gt (e |
0 0 202" 21 4 25 20 23 28 (29
10 ‘5\ , 38 34 31 33 34 35 3 (9 28 34)
&‘ @ YUq G ot vz uy W ue uf 3G
60

~0 233| -‘L—‘q“ 0.2105

23.81% 21,06%
1l -_— )l
b— 7 7 7 A
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f Events A and B are independent. Find the indicated probability. N
. P(A) = 0.3 PA) = 2 P(A) = 0.75
P(B) = 0.9 P(B) = 0.3 P(B) = 2
P(A and B) = ?_ P(A and B) = 0.06 P(A and B) = 0.15
P(Aand®) = £(A)-P(B) P(Aand®)= £(A)- P(B) P(AandD)= R(A)- P(B)
P(Aand®) = (0-3)(04)  0.00 = P(R)- g§=g§-vcs)
P (Aand )= 0.2 0.2 v sl
. P(A)= 0,2 P(B)=0.2
Events A and B are dependent. Find the indicated probability.
P(A) = (0.1 PA) = 2 P(A) =09
P(B|A) = 0.8 P(B|A) = 0.5 P(B|A) = 2
P(A and B) = 2_ P(A and B) = 0.25 P(A and B) = 0.54

P(Aand): P(4)- b(8)A) P(Aandp)= P (A)- p(8|n) P(Aande)- P (). p(p)|A)
P(Pond®) =(0.1X0.9) 0.25= P(A) 3%\ 0.54 =Q{- PCe(R)
0

0.5 0.9 0.
P(Aand )= 0.09
ﬂl\ e P(A)= 0.9 P(B|R)= 0.k
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‘ / Three friends are taking an English class that has a summer reading list. Each student \

is required to read one book from the list, which contains 3 biographies, 10 classics,
and 5 historical novels.

® Find the probability that the first friend chooses a biography, the second friend
chooses a classic, and the third friend chooses a historical novel.

@ Find the probability that the three friends each choose a different classic.

(6103!‘0?‘\‘/ and Classic and Historiod) 2 P(G) P(c) () > lﬁqu‘% - 2.5%%

0
Ti : Ti' !Lv =0.1431 2 4. H1% J
¥, CosTUMES You and four of your friends go to the same store at different \

times to buy costumes for a costume party. There are 20 different costumes at
the store, and the store has at least five duplicates of each costume. Find the

probability that all five of you choose different costumes. m@@m@
20 J\M (ostumes S .\ each kind S’ ARG,

you Friedore Frimdtwo  ferend theet foed S [S)S)R)EIS)
I . as 0 . 35, % _ [BERES

\ op 100 ' 100 100 100 4 9 5314
$8.14% H_”l

» 4
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